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QUESTION 1

An inspection characteristic describes the inspection criteria.
A. Incorrect

B. Correct

Correct Answer: B

QUESTION 2

You can use the action box functions to process the wrong delivery.
A. Correct

B. Incorrect

Correct Answer: A

QUESTION 3

A system status is predefined in the system and cannot be changed.
A. Incorrect

B. Correct

Correct Answer: B

QUESTION 4

Which statements are correct? (More than one answer is true.)

A. Dynamic modification should be used to reduce the size of samples and for inspection skip.

B. If the maximum possible lot size is not exceeded, the sample size for the maximum possible lot size is used.
C. Dynamic Modification is used so that inspection costs can be reduced as a result of high quality.

D. If the unit of measurement for the inspection lot does not consist of single units, then the lot size is determined by
dividing the lot quantity by the sample quantity.

Correct Answer: ACD

QUESTION 5
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Which statements are correct? (More than one answer is true.)

A. You cannot assign an already existing QM order to a quality notification.

B. QM orders can be settled to different account assignment objects.

C. The controlling area always forms the first step in the hierarchy of an evaluation.

D. The confirmation to a QM can be performed using direct activity allocation.

Correct Answer: ABC
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